4 ERI19FEERENKR

(1) —fe=st
(B B5AM)
% A % H
® H FEIREE (ANAEEE (B) (B)/(A) (%) |HERE (%) ® H FEIHEE (C)ZHiFEE (D) (D)/(C) (%) |HERLE (%)
1 i) 6,044 6,139 101.6 4.7 1 3% = = 210 204 97.1 1.4
2 /A E 5B B 239 243 101.7 1.7 2 1 % = 1,825 1,769 96.9 12.4
IHM F B X M = 17 21 1235 0.1 3 R 4 = 3915 3,863 98.7 27.0
48 &K B X O+ & 19 21 110.5 0.1 4 o & 1,689 1,669 98.8 11.7
5 MRAEEERBBX G2 10 11 0.0 0.1 5EMKEXEE 742 709 95.6 5.0
6 AEE R T E 441 440 99.8 3.0 6 T =4 351 348 99.1 2.4
TAI V7B ARK G 13 13 100.0 0.1 7 PN = 1,302 1,287 98.8 9.0
SEFHERGEHRXMF & 107 106 99.1 0.7 8 B 7] =1 803 796 99.1 5.6
oMt A OHl X T £ 43 43 100.0 0.3 9 % B =4 1,115 1,094 98.1 7.6
o A XK fF 2,580 2,619 101.5 178 (10X & & 1B & 10 10 100.0 0.1
N XEREAEFAINXFE 6 6 100.0 01| |11 & & = 2,471 2,446 99.0 17.1
2ar#EERVEREE 175 175 100.0 12| (1258 X H £ 122 117 95.9 0.8
BEAH RV F HH 414 431 104.1 29| |13 % fis =1 20 0 0.0 0.0
ME E X H % 1,133 1,108 97.8 75
15 & b2 H i 779 779 100.0 5.3
16 Bt 23 IR A 28 31 110.7 0.2
17 #& A & 511 510 99.8 35
18 #2 i % 386 386 100.0 2.6
19 § I A 485 498 102.7 34
20 & 1,138 1,138 100.0 7.7
21 & Bt & 7 7 0.0 0.0
m A& &t 14,575 14,725 101.0 100.0 A F 14,575 14,312 98.2 100.0
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(2) MHFHDAGR (3) —EEFHEERRERR (BER)
(Bh:-/5AM) (Bh:-/5AM)
# B FEREN | RE#Ee |BARe/we| HEHE® B B F H R OE % B B kb @)
1 B 7] 2,592 2,596 100.2 42.3 1 A % g 3,666 25.6
2 B B E 2,820 2,899 102.8 47.2 2 % =1 1,867 13.0
S E BH B E M 84 87 103.6 1.4 I F W B E 99 0.7
4 W = X 2 & 323 327 101.2 5.4 4 % Bl & 2,022 14.1
5 A ] 7] 33 32 97.0 0.5 5#% B & % 902 6.3
6 # ™ F B & 192 198 103.1 3.2 6% & B & & 1,220 8.6
it (1~06) 6,044 6,139 101.6 100.0 (1) EEEREXRE 1,210 8.5
X BRBERIER 1,355 1,368 101.0 100.0 Ok Bj 44 0.3
Q@ B G 905 6.3
O mHDEIEER UV BX HEE (B FH) @%F O # 261 1.9
ERIAZYOTFH AR 127 (2 KEBIBEXE 10 0.1
—tHLYOTHHEINEE 355 7% & =1 2,446 17.1
FER1IAZYDOB B %8 297 8 & i & 117 0.8
—HHHY OB HEE 827 9 H & & 98 0.7
10 B fF & 312 2.2
O ERERRRGDOEEIERUZ HEE (i FH) 11 # tH & 1,563 10.9
FREFIALBYVOERREIEEE 72 & Hi 14,312 100.0
—tHHBYOERTAIELE 135
BREE 1AL YD HEE 265 (4) RIS
—itHHY DX HEE 499 CAoR=:15)
= i £ FEBREA) | BAREHEB)| mHRELEC) [ IRARB)/(A) | BTEC)/(A)
ERERERERKR 5,254 5,109 5,058 97.2 96.3
XK B 2 & F 11 10 9 90.9 81.8
Z A (e 2 5,205 5,217 5,169 100.2 99.3
N H T KEEE 1,114 1,084 1,076 97.3 96.6
BESEEHEKEE 52 53 52 101.9 100.0
g RK E X 2,761 2,779 2,711 100.7 98.2
=) it 14,397 14,252 14,075 99.0 97.8




(5) NEEXRF

OF R 19FEREKR (B m5EA) 2 OFR19FENRERR (B BJHM)
% KEFE | Lawn | FEEE| X 4 KEBE | s | FhEE |

Rl E F W O# 997 206 3,054 4,257 M 997 206 3,054 4,257

I A EOX N I & 2 1 107 110 | E OX 4 I #® 2 1 107 110

B 999 207 3,161 4,367 it (a) 999 207 3,161 4,367

EAY 2 %X E H 767 177 3,225 4,169 & E X Z H 767 177 3,225 4,169

X\ g N B M 144 25 175 saa| |5t B2 2 5 & B 144 25 175 344

Bl % B # % 2 2 ||| B B % 2 2

&t 911 202 3,402 4515| | it (b) 911 202 3,402 4515

/JEEI P fﬁ P i 029 11 143 88; L HFF 2% (a) — (b) 88 5 A 241 A 148

Iz —lR=FHHES 2 39 41 - B T & E 9,731 1,889 1,302 12,922

- T %8 8% 20 20| | g |2 wo® B OE 412 556 624 1,592

MNezstmw 2 3 2 2 |"|0f8 & B = 124 124

* Bl &EEFTHNKE o| | Hi 10,143 2,445 2,050 14,638

&t 654 112 211 977 [ M| &A|IB T & & 47 25 72

" B % % B E 122 130 26 278 | g 1_5 wno® A & 44 10 1,374 1,428

% tEXFEEES 943 20 184 1,147 = i & X i 6,591 1,166 2,464 10,221

—BHEAREE 0 KL R 4 3,461 1,244 A 1,788 2,917

H z ) fth 1 1 &h Hi 10,143 2,445 2,050 14,638

&t 1,065 150 211 1,426




